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Look at the numhber Aime - what do oM noAice?
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The numher Aine staris at 0 and ends at |

Each mark on Athe numher Aime As worih

om Aenih.

When we Aearmt ahout /p/{acz ~NaAue and ,d/i/wi,d./i/n,q /b/té
10, we Aearmnt ahout Athe Aenihs columm. Its a4 decimad.

Coumt Am Aemihs...
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To /f/t/n/d a AemAh ,o/f /s/oxm,e/t/h/t/n,q, we dinvide /b./ld 10.
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I find % of 120

50 - 10=5 120 ~10=12
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What does Ahis /{/r,ac/t/t,om show us?
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So how would we /j“/i/n/d —é of 30?
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Ao how do we /j"/i/n,d —:|3 ,0/}" 36? 36 -3=12
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cam MOoA Aeel how /}"/r/ac/t/t,omxs and Ahe divAsiomn oM
Aearmit Aast week AAnA?




